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KBS (BH) - HSAY - Bae Aol Soe HRZ2
202 044l 268,698 217,505 51,193
03 =2AE R0 b 140, 150 88,957 51,193
0 SR g2 =220 | 102,750
0 =2 HAOHZ A HATAX  2,200,000& * 2H 4,400
0 2HMUEHER =& 2,200,000& * 5™ * 33| 33,000
04 = M3l 128,548 128,548 0
0 SR 2= == 0| 128,548
308 NAXHMSOIH 34,600 34,600 0
05 NXEHMAESLS 30,000 30,000 0
0 323 Agu=s 223 30,000
08 JIEtRE= 4,600 4,600 0
0 8= AMEZFREEEIF BE2 4,000
034 AMEZFE2s 2Y32 600
HE 29IA 319,136 403,557 A84,421
201 LEt29H| 68,316 164,777 96,461
01 At22telyl 48,960 147,777 N98,817
0 ediBt=2H| 44,938
0294 4,022
02 s=529H| 10,000 9,500 500
03322 % HAl 10,000
03 SHAI2EHI 9,356 7,500 1,856
0 ZAl=3l 4,148
0 E2A 2,208
0 AIRA 3,000
202 044l 240,820 238,780 2,040
01 LH O Bl 240,820 238,780 2,040
f254 22,440
o 2K b 170,000& ~ 594 12& 10,200
o 22 (bl 1,020,000& = 12& 12,240
0 283 9,600
o ZLHK b 10,0003 = 2% = 15 122 3,600
o 22 (H| 50,000& » 2% » 5 128 6,000
0 HyYL 20,400
o ZHU (I 170,000& » 74 12& 14,280
o 22 (bl 510,000& = 12& 6,120
22 NESHH(EB2S) 188,380
207 ARl 10,000 0 10,000
02 P ="l 10,000 0 10,000
0 oI & Al AE 10,000
ABIA 2 418,029 388,754 29,275
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A XS

mm: wEoe
ool BHAHA P (Etel: &8
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
04 I2HSANE X 20,000 0 20,000
0 SIS T0IZXE B0IS MSH3 20,000
AMLRSH THX X 6,780 0 6,780
= 6,780
101 Q24| 3,510 0 3,510
= 3,510
04 JIAHIZRSES 3,510 0 3,510
0 ol 3,510
= 3,510
201 ety 3,270 0 3,270
= 3,270
01 At 2l 3,270 0 3,270
0 HALBE 3,270
= 3,270
zeacH el 2,076,494 1,910,307 166, 187
CEERTER 1,931, 154 1,787,367 143,787
EX 245 228,030 24,130 203,900
201 ety 15,000 10,000 5,000
03 A2 15,000 10,000 5,000
0 SE9l U XN I S53 AME b
S 15,000
301 YptBAZ 6,230 6,230 0
10 BAAHIZA S 6,230 6,230 0
0 SERBXINE JIGA
50,0008 * 8% * 23] 800
0 TRVNEZAE BALS AP
7,00080 * 20% * 123 1,680
0 2E SSE#A BIHBA(OIE)
50,0008 * 158 * 5)HSS3| 3,750
303 T&S 6,800 2,900 3,900
01 ZAZ 6,800 2,900 3,900
0 TR oA 2,900
o SHy 1,000
o 244 1,000
o S 900
0 Ho#Y CInE 203 3,900
o ze% 1,000,008 * 19HES 1,000
o 2% 700,00021 * 294 &l 1,400
o X 500,0008 * 374 1,500
405 XH&HF S| 200,000 0 200,000
01 RHAYLSEHSH| 200,000 0 200,000
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A XS
Xl

HH: BF 22|
cel Z2lEMEA CLE-ED
X
B3 S (3) - HTAY - BAS sros e =
0 =8 SAME XA 850,000& * 764K 649,400
0 &HHEH 180,000& = 764Y 137,520
HH 23 XA 103, 150 98,390
AU 84,830 82,070
01 AtR2t2ldl 26,870 26,870
0 git===H| 26,870
2322l 57,960 55,200
0 2222z & HAl 57,960
(1] 16,320 16,320
=L bl 16,320 16,320
0 2LHOYI 170,000& * 5% = 12& 10,200
0 22l 510,000& = 12& 6,120
A& S| 2,000 0
Y EFH SHI 2,000 0
0 RE2 22 0IENSI 2L(1TH) 2,000
LH2l KOHZ A 145,340 122,940
=SHAXOHZ A 145,340 122,940
A2 43,000 43,000
HArZ S HI 43,000 43,000
0 KHOHZ A AL Z=&1H| 3,000,000& = 103l 30,000
0 ST NHZABM =7
1,000,000& * 13SH 13,000
AL AZ 63,400 63,400
gI2tol =22l (¢4 i 30,000 30,000
0 2HUFEAl XIAAZ WE
1,500,000& *» 10 * 23| 30,000
ABI=H A YI 30,000 30,000
0 2H XOHZSHII& 28l =& ZH| 30,000
HALAHI B &S 3,400 3,400
0 THOHZ S Al L2 A}
30,000& * 40 = 23| 2,400
0 NHZY FRFAT AP
50,000& * 10 = 23| 1,000
IN3 20,000 0
Taaz 20,000 0
0 XtOHZH 43t Alatza 20,000
o xR 2,000,000& * 292 M 4,000
o S 1,500,000& * 442 A 6,000
o & 1,000,000& * 6IH= M 6,000
o 500,000& * 8IHF A 4,000




M RS
3 zodAo 22
Crol: el KO ol (el @2
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0l & o i HIREY
306 EH3 5,000 5,000 0
01 €93 5,000 5,000 0
0 2HSE £013 5,000
310 =2/01& 11,940 9,540 2,400
02 =HRE3 11,940 9,540 2,400
0 =2 NXNSHESRE w22 2= 11,940
405 AHoHESHI 2,000 2,000 0
01 MHARESFSH 2,000 2,000 0
0 ZNMILAZIRAsSA JI2ES 7Y 2,000
2= 2,179,166 2,218,803 A39,637
= 76,030
& 115,988
= 1,987,148
FESHM=2Y 1,301,226 1,302,353 AT1,127
= 76,030
& 115,988
i 1,109,208
D UEBS NS 9,000 13,200 A4,200
& 3,000
= 6,000
201 LBt 3| 9,000 13,200 A4,200
= 3,000
= 6,000
01 AtS22lHl 9,000 13,200 A4,200
0 2B NS 29 (3,0008) 9,000
= 3,000
= 6,000
ZEs0tE N& g4dst 46,665 60,000 A 13,335
& 16,665
= 30,000
201 et 46,665 60,000 A 13,335
& 16,665
= 30,000
01 AtS 22l 46,665 60,000 213,335
0 2230t 2L (3ML) 46,665
= 16,665
= 30,000
AN BESESSIIBAAYE 25 124,261 126,238 A1,977
= 49,704
i 74,557
201 et 124,261 126,238 A1,977
= 49,704
= 74,557
01 AtS 22l 124,261 126,238 A1,977




SN KB D
By =D

o9l HEEASY (9l & 2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
0 AZTHESBEIIBAIAEY 7= 2|42 124,261
= 49,704
2 74,557
H2SER 2YN 142,552 143,992 A1,440
201 Yer2 YY) 120,592 119,632 960
01 At 2ty 40,360 39,400 960
0 LB 2B 38,960
0 2Y4+Y 1,400
02 IZ2Y| 80,232 80,232 0
0 32223 ¥ XAl 49,050
0 AIZEHIS XY 31,182
202 OiH| 18,360 18,360 0
01 =2UoiHl 18,360 18,360 0
0 ZUoiH| 170,008 * 62§ * 122 2,240
0 Z2l0iH| 510,0002 * 122 6,120
301 LPBA 3,600 6,000 A2,400
12 JIEH2 A3 3,600 6,000 A2,400
0 QIEY OIMIE I A&S 3,600
B2 S AR 293,539 255,705 37,834
29
201 LByl 224,799 255,705 30,906
02 IZ2Y| 224,799 255,705 £30,906
0 AIZEHIS X 224,799
403 RHXISHSRZ0IH 68,740 0 68,740
02 BII2HS 0T CH S AF2t bl 68,740 0 68,740
0ANZT BHFR HATY FISAAL] 68,740
=EENNETS 400,560 418,650 18,090
29
201 LByl 400,560 418,650 18,090
02 IZ2Y| 400,560 418,650 218,090
0 2SN AR SBY 23
1,000,002 * 178l& * 128 204,000
0 YU HS SR 12,000,0008 * 122 144,000
2RIV HHHE MBIHME
18,0002 * 1603140 * 122 34,560
05lS2 QEY ZHOIX 3l&2(13/4 20m) 14,400
0 /N2l BSIHP EZDEY 2E MR X 3,600
2R3 4,150 3,150 1,000
303 TaZ 4,150 3,150 1,000
01 Za3 4,150 3,150 1,000
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SN KB D
HH: HPEET

ool HEsNRY (el @R
SA-E . S(E) - MEAY - BES 0 & 24 e {imE=Eh

201 LEH2HH| 127,092 129,950 N2,858

< 86,423

= 40,669
02 =234l 127,092 129,950 N2,858

0 &~z dERESEY 2=z 127,092

= 86,423

= 40,669
NZRHEZEAAE S DAL 16,315 0 16,315

= 6.526

= 9,789
201 LEH2HH| 16,315 0 16,315

=2 6,526

= 9,789
01 AFS22itl 16,315 0 16,315

0 NZRHEZEAAY FHH WA clAs 16,315

= 6.526

= 9,789
ZESH U 877,940 916,450 A 38,510
FESAFH| 258,000 453,000 A 195,000

&3t

405 XtotE SHI 258,000 395,000 A 137,000
01 MHARESFSH 258,000 395,000 137,000

0 IPHSIAIARS H20lE 20,000

0 IPHZD &0 &XI 550,000& = 40CH 22,000

0238 ¢ 23 =% UXNEHSI uH 7,000

0 BASH SRHNANT &3 65,000

0 9488 =5 ASHIY DA 44,000

0 EorEHI (Y3, IPS) 0153 &€ 100,000
HAEH &S 619,940 463,450 156,490
201 LEH2 | 59,940 0 59,940
01 At 2t2lbl 59,940 0 59,940

0OPCE® =2 30,0003 * 648K 19,440

0 ANHHE =208 500,000& * 7K 3,500

0 REEZZANA Z2H 7 90,0003 * 5004 4,500

0 HAA =203 250,000& = 5094 12,500

0 OI0IXI & =20 20,000
207 100 2H| 175,000 151,450 23,550
02 & &R 175,000 151,450 23,550

0 JHOIFE N U XSAAY T 20,000

0 Jde ITHE 2l AIAE & 55,000

0 e-XNESZ2O0MAIAE E¢ 15,000

0428 HAMAAY £ 85,000




S KA BE D
M MDB5E7
ool ¥BSA s (69 @ o

SN EB -GS - MBAY - BES 0 & 24 e HRE2
405 XHAHE SHI 385,000 312,000 73,000
01 RAUSEH S| 385,000 312,000 73,000

08 SeAH P 80,000
0 USHAIAEY U BSIIBAAY BYSH
70,000,000 * 24! 140,000
0 RolRIREII| 7Y 25,000,000 * 3CH 75,000
0 YRBARH 7Y 45,000
0 H2SDEY ZEHDM
1,500,0008 * 30CH 45,000
aoslal 2,790,280 3,223,480 £433,200
3 1,900,000
2 890,280
Zojslal o RHYUH 490,280 823,480 333,200
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